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(a+ B) +v) +d = a+1 +( +4)
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Mezzongsozu Idioznza(Agder)
(A + B)+r = A+ (B+r)

-urgiddaA, B,
Main idea : Shift the parentheses-

according to the associative property
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108zyzoh :

(10-P1 . 2). = a . (B - (8.)
Anym:

%-B) ·2) . -(a . (B .8)).=
* a . (B -r) .5)=
⑰
= a (B . (.r1) ->



⑦grzagzzck (Sozmza
ToxanaGlat OS :
-

Tia kae zquada
A
, B, 10XC zo Cis

(A .B) .r = A . /Bot
Main idea : This problem
-

is similar to the

previous problem
.
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(+B1+ (D)+f+3 = a+(+(+(+a)))
An . Da kauw

Xyyoy zys igowazacgcozipis
idzyzas

.



(10+B1+y +4+3 =((a+ +2)) +0) +2
=> (a + ((+r) + r))= e
=(a+ (P+ (u+r))) 3
= a +(4 + (+r!) + 3)
=
a+ (B + ((r+5) +2))

= a+ (B+ (r+(+x)))
'And,

I+3 = a+ +(+(+ a)))


